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BBCET-151 : PLANT BIOCHEMISTRY  
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Note : Attempt any five questions. All questions 

carry equal marks. 

1. (a) List the different types of plastids and 

describe their structure, distribution 

and roles. 7 

 (b) What is the Z-scheme of photosynthetic 

electron transport chain ? Explain with 

a diagram. 7 

2. (a) Explain in detail Photorespiration in 

plants.  7 

 (b) Describe the regulation of glycolysis in 

plants.  7 
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3. (a) Explain the anabolic role of TCA cycle 

in plants. 7 

 (b) Name the complexes of mitochondrial 

ETC and describe the transfer of 

electrons from complex-II to 

ubiquinone.  7 

4. (a) Illustrate and explain the mechanism of 

ATP-synthesis and ATP-yield by F-

ATPase.  7 

 (b) Classify Seed Storage Proteins (SSPs) 

and enumerate their characteristics. 7 

5. (a) Discuss in detail the mechanism of 

exchange of metabolites between the 

host and microsymbiont. 7 

 (b) What is auxin ? Explain physiological 

processes regulated by it. 7 

6. (a) Describe the major classes of secondary 

metabolites in plants. 7 

 (b) With the help of a flow chart, explain 

the steps of plant tissue culture 

technique. 7 
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7. (a) Discuss the various environmental 

stresses experienced by plants. 7 

 (b) Describe the reduction of molecular 

nitrogen by nitrogenase including the 

reactions. 7 

8. Write brief notes on any four of the 

following :  4×3
 

 
=14 

 (a) Hill reaction 

 (b) Unique features of biological nitrogen 

fixation 

 (c) Nutrient media 

 (d) Applications of plant secondary 

metabolites 

 (e) Cell suspension culture 

 

 

 

 

 

  



 [ 4 ] BBCET–151 

D–3260/BBCET–151 

 BBCET–151 

tSojlk;u esa Lukrd (vkWulZ) 

(ch-,l-&lh-ch-lh-,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-bZ-Vh-&151 % ikni tSojlk;u 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (d) yodksa ds fofHkUu izdkjksa dks lwphc¼ dhft, vkSj 

mudh lajpuk] forj.k rFkk Hkwfedk dks crkb,A 7 

 ([k) izdk'k&la'ys"kh bysDVªkWu vfHkxeu Ük`a[kyk dh Z-

Ldhe D;k gS \ fp= lfgr o.kZu dhft,A 7 

2- (d) ikniksa esa izdk'k&'olu dk foLr`r C;kSjk nhft,A 7 

 ([k) ikniksa esa Xykbdksyka'ku fu;eu dk o.kZu dhft,A 7 
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3- (d) ikniksa esa TCA pØ dh mipk;h Hkwfedk dk mYys[k 

dhft,A  7 

 ([k) ekbVksdkWfUMª;k ETC ds ladqyksa ds uke crkb, vkSj 

ladqy&II ls ;wfcD;wuksu esa bysDVªkWu ds LFkkukarj.k 

dk C;kSjk nhft,A 7 

4- (d) ,Q&,-Vh-ih-,st (F-ATPase) }kjk ,-Vh-ih-& 

la'ys"k.k vkSj ,-Vh-ih-&yfC/k dh fØ;kfof/k dks 

n'kkZb, vkSj o.kZu dhft,A 7 

 ([k) cht HkaMkj.k izksVhu (,l-,l-ih-) dk oxhZdj.k 

dhft, vkSj mudh fo'ks"krk,¡ crkb,A 7 

5- (d) iks"kh vkSj lw{elgthfo;ksa ds chp mikip;ksa ds 

vknku&iznku dh fØ;kfof/k dk foLr`r o.kZu 

dhft,A  7 

 ([k) vkWfDlu D;k gS \ blds }kjk fu;af=r dkf;Zdh; 

izfØ;kvksa dh O;k[;k dhft,A 7 

6- (d) ikniksa esa f}rh;d mikip;t ds izeq[k oxks± dk o.kZu 

dhft,A  7 
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 ([k) izokg fp= dh lgk;rk ls ikni Ård lao/kZu 

rduhd ds pj.kksa dk mYys[k dhft,A 7 

7- (d) ikniksa }kjk vuqHko fd, tkus okys fofHkUu 

i;kZoj.kh; rukoksa dh ppkZ dhft,A 7 

 ([k) ukbVªksftust }kjk vkf.od ukbVªkstu ds vi?kVu dh 

vfHkfØ;kvksa lfgr O;k[;k dhft,A 7 

8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ fyf[k, % 

4×3
 

 
=14 

 (d) fgy vfHkfØ;k 

 ([k) tSfod ukbVªkstu ;kSfxdhdj.k dh vf}rh; fo'ks"krk,¡ 

 (x) iks"kd ehfM;k 

 (?k) ikni f}rh;d mikip;tksa ds vuqiz;ksx 

 (³) dksf'kdk fuyacu lao/kZu 

 

 

 

× × × × × 


